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2025
ACCOUNTANCY
( Commerce )

Full Marks : 80
Pass Marks : 24

Time : 3 hours

25E—ACOU

The figures in the margin indicate full marks for the questions

Give the answers of Part-A in the OMR Answer-Sheet provided.

ALLOTMENT OF MARKS

Part—A
Q. Nos. 1 to 40 carry I mark each

Part—B

Q. Nos. 41 to 50 carry 2 marks each
(any five out of ten)

Q. Nos. 51 to 58 carry 3 marks each
(any five out of eight)

Q. Nos. 59 to 63 carry 5 marks each
(any three out of five)
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1x40 = 40
2x5= 10
3x5= 15
5x3 = 15

Total = 80
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(2)

(3)
PART—A 3. Recox.'din{;g]1 o(t; the business transactions in a systematic
. . ‘way is calle
‘ - (Marksi‘m) ' | TP CFACTPIR AMARTSI BiPRS 41 “mafe ol =
Choose the correct answer : | | 1x40=40 TPNCER FATHSE dAaeIs Btk #a1 “maice <o = |
% Tevdhl AR Shve , | _
% Tefb @R s : (@) Accounting / RvriRwn / RBmRRm
) X ST ' : (b) Recording / FiffR= / foiffea
1. According to going-concern concept, a business is viewed
as having SRR , (c) Journalizing / SR / SIRRFR
DI 2B RN T, BT IR R Roreet sy TR | (d) Book-keeping / vl / RotRamse
SoI 2AfSBICTE YRS e, Gl IPE @ RBAIeg N T =W @IS %o
(a) - a limited life / 93 SNRT Sigx / S0 R Sy 4. The amount drawn by a businessman for his personal
(b) a very long life / <% wfS R gy / 43T IS T ey | use is
(c) an indefinite life / &3 > S / <3 v G ‘ IR fed T WA SR e
(d) None of the above / eoqg bl T2 / Sogam e Ty QWWWWW_WW‘
2. A Balance Sheet shows the financial position of a firm (@) capital / T / A
%g@wa%qﬁﬁ%émwﬁ#wcwm (b) drawing / ==’ / ==
©73 °f7 a9t afebe I S oo | (c) expenditure / I8 / I
(a) for a given period |
93 A FECRAT AT - | (d) loss / IR / TR
T 1A T W ‘ ‘ 5. In India, the Accounting Standard Board was set up in the
(b) on a particular point of time ; year |
<51 Row 3789 a3 SReR(s BRI TR e e |
> Rew 1Zeée oy ey R W ARG e wfe =
“ gﬁ:;rﬁt;: ﬁga;f; (@) 1972
IR °19 IRT (b) 1977
(d) for the whole life of the firm (c) 1956
2SI 7o Gy A7 @ 1932
AGBICT F=opef ST &y

i /29 [ Contd.
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(4)

6. Which of the following is a cash transaction?
TS STHY 1 IO T oK CoTICT o1 41 = 2
NS @R @S 79w @em w7 @ =2
(@) Sold goods

o R&t
o R
(b) Sold goods to Mr. Ram
I “4en RF)
AT o R
(c) Sold goods to Mrs. Sita on credit
HeorF IS A R\
Srors Al o fife

(d) Sold goodé to Mr. Laxman on account

THIT PR o RE
THRRF IR 330© o1y RiF

7. Ledger is a book of ____ in Accounting,
T 3R RoreiRmm o
Jfex 336 Rofmm & |
(a) all non-cash transactions

GRS T
SR8l S (AT

(b) secondary entry
QIEEASCEXC
(M SRBYS
(c) original entry
ERAR
T S
(d) all cash transactions

JHRRM 7o T
SRl FW T

/29

(5)

8. Return of goods by a customer is recorded in
ARF AR <4 R EonrTR wege a1 =
STRCFS AN AT (FIR CHCST SRS 31 o

(a) purchase book ’ (b) sales book
& /o Ren e
LR R 3o -
(c) sales return book (d) purchase retull;n book
R e W®o T e e
Rew e o T (TR o
9. Credit balance of the Bank A/c in the cashbook shows
(&S Be (32 Rorem wom 3RS (rgEm
(D Te 1% BT Fom IxcS o
(@) overdraft
TR
iR
(b) éash deposited into our bank
(RS YT T 4
JICE JNICTY &1 49

(c) cash is withdrawn from the bank

M 4 (RFF 2 =7
M G TS (I A=A

(d) None of the above

8] GbIS T
Teoitag @b T

/29
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10.

11.

/29

(6)
Drawings falls under
R w@efe |
SRI SRS |
(a) Personal A/c (b) Real A/c
Jfeere RoreE RlicE REi|
JREere o IR TG
(c) Nominal A/c (d) None of the above
g RBoreR @[T B8 7T
plb LI REG EEl ToRA GFive T

Bank Reconciliation Statement compares a bank

statement with
QR fiemes [ e =
1% feeea RIS gorm =
(a) cash payment journal
o SfRTNY SIS TS
oL ARCNY I AT

(b) cash receipt journal
9% S G F157S
9% S SIS ACH

(c) financial statement
8y Ryfeq avre
R8m Rgfeq e

(d) cashbook

COIECEEDS
o IR N

(7))

12. If the Trial Balance does not tally after many efforts, then

the is opened. .
3t T fem o 51 FoTS «eE w7, cofdm C4reT = |
I Tge flew /@ B ENORH 9@F A =, Ok Tl 2 |

(@) Purchase A/c (b) Suspense A/c

& RBorl FwEAE 21
4 I R CDEREY
(c) Sales A/c (d) None of the above
Rerw B 8T HI8 T
R IR T @3fbe T

13. If wages paid for the installation of new machinery is

debited to the Wages A/c, it is
T g TeIfd vgem w9 TR oW, cofem e B TRk

Rorre oG @ =, ofen ¢’ &9 T3
3 g TS SKErR FECS TR el =, oA R ol R
2R (ofkb @1 =, o9 R IR =@

(a) Error of commission (b) Error of principle

TaRT T g

(d) Error of omission

AT T
AR T

(c) Compensating error
TR T
THORR §A

[ Contd.
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(8) (9)

14. How many methods are there for. preparing a 16. Depreciation is charged on

Trial Balance? Ro1er® &
7S Rem “[a9 =TS 391 &S AT mwﬁm:wﬂ v
(a) One (b) Three (@) Current Assets
a3 . oAt | | oS el
(c) Four (d) None of the above | (b) Fixed Assets
HIRGI @[T b8 7 g wfe”
eI Tl GIoS T s W, )
15. The 1 ¢ sal : . | (c) both Current Assets and Fixed Assets
. The loss of sales of assets is | o Sre Tt o e STeifs Tl
PO G2y s Rt Bere Teifs R e Feifs bR
@RI 267 7=if& Rferce
, . | (d) None of the above
(a) debited to Profit & Loss A/c : : @Y «hle =
(OB 91 W AS- RO f2o1ere 2o | TR oS T
ArS- AR RN (O 741 =
b . Trial B al o . 17. Which of the following methods of depreciation is not
(b) reflected in Tri ance credit side recognized by Income-tax Law? |
2ifwere 2 Tge Fer T D P TS BERS (FRCH SN 1A I ST A oS =W ?
ogs e =1a s 2feFTe = | RIS (I S TR I4 iz ol RS T/ A ?
(c) reflected in Balance Sheet (a) Straight-line method |
oifrlore = ©g8 199 - ormfe
TS *1d 2AfOFfore  f-RR R
(d) debited to Trading A/c (b) Diminishing-balance method
cofi 91 = T-Raw forre TP TS 1S
- oia (oG 7 = TP TS 1A
| Contd.
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18.

/29

(10 )

(c) Both SLM and DBM
ﬁammwmmmm
e RS oraf® «@x: Fwgpim e ol e

(d) None of the above
8] IS Y
SNE GBS 7Y

Choose the correct chronological order of ascertainment of
the following profits from the Profit & Loss A/c :

wmm-mﬁmﬁwmwwmwﬁm

e are-EeT R i @@ zen arsah RME wTe
ﬁfﬁﬁqW:

(a) Operating Profit, Net Profit, Gross Profit
ARETe =TS, 2ps ofrs, 35 /e
AT =TS, 2% e, (Wi e

(b) Operating Profit, Gross Profit, Net Profit

ARSI TS, 3 S, 2 e
AT TS, A e, 27 e

(c) Gross Profit, Operating Profit, Net Profit

T TS, AR TS, a3 o
GG =TS, “(ROFm =11, s #r

(d) Gross Profit, Net Profit, Operating Profit

T S, S TS, AR5

(11

19. Direct expenses are entered in
AOTF IR TS =
o ISR TGS =W

(b) Profit & Loss A/c
GISHCI CREP LS
TS~ GEIRAT 3113

(@) Trading A/c

(d) None of the above

89{] GBS T
AT oS T

(c) Balance Sheet

TRE [qe
T

20. Generally, incomplete records are maintained by

YRS STy foifoiam =
HA4RTS ST e =
(a) trader (b) society
@Q-@_T [ TGS AR
(c) company (d) government
@AY B PRT F{
/29
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(12 )

21. Liabilities and assets amount 50,000 and T 78,000

respectively. The difference amount will represent

Gl S Tifes N F 50,000 B S 78,000 B9 | IRy
CZA 41t afefafdg 2R '

oAl @R Seffes A @ 50,000 BRI @Rk 78,000 B | IRy

3eyl 4 2AfRRg F93

(a) creditors (b) debtors

A1SqM EmIg
AN TR
(c) profit (d) capital
EIS) T
TS Y

22. Incomplete record mechanism of Book-keeping is

/29

IR P feT =
TRz Sprey JfSum A

(a) scientific (b) unscientific

(e IRIF
SLITE eIRIF

(c) unsystematic
GG STS
GOTOTO

(d) Both (a) and (b)

(a) w1 (b) Tris
(a) €32 (b) 7ty

(13 )

23. The Trading and Profit & Loss A/c is prepared under
F-Repw 1211 1 aAre- (o RBpier @mcst Rew fRore wuge = 2
&-Ren IR @R “Tre-ETRRI BoTR e Rew foss wiege = 2
(@) summarizing - R

I
R

(b) recording
forferaesa
ffasaa

(c) classifying
cRReTe=
B ST

(d) analysis and interpretation
Rosse3e o AR
Rowerge a&R JrFIA

24. Which of the following statements is correct?
o (FICO! 331 g = 2
e (e Rl vz 2

(a) Book-keeping is a part of Accounting.
fEprore «fb fEpeiFeem =T
AR R G0 T |

(b) Accounting is a part of Book-keeping.
fRprored «fb EpreiTaR =i |
RoTaae! TR @b IR |
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(14 )

() The terms Book-keeping’ and ‘Accounting’ can be
used interchangeably.
TRO1eR W RO SIRSTeMeT 989 = |

RTET 3R RTRFCR SRS IR 2 |

(d) Book-keeping is not a part of Accounting.
o1 RRoreieeem «fb e 1w |
TR ROIRFRCR @I e 7 |

A liability arises because of
1 TS (AN FRAGT 2
¢l Teoife 2ex IR 2@

(@) credit transaction
A9 @
A T

(b) cash transaction
99 eI
M CFACT

both cash and credit transactions

oI S I CIAFCH 1B
% G I T 7o

(c)

(d) None of the above
@[T GBI 7Y
o «foe Ty

(15)

:‘ 26. Which of the following is not the qualitative features of

' Accounting? -
TS SRS (FINCH! IR gasre (3B 77w 2
fare @mt RTReReeR gaere ey w2

VE (a) Completeness (b) Reliability
el RepTeITe!
oy RS

(c) Understandability (d) Relevance
SIS LIIES S
(SIERMIO) AFRFS!
27. The pioneer of Accounting is
o ey g
RmR e SIRERS
(a) Arthur Field (b) Gitman
LIRISREED RLen
IR RIRiE

(d) Luca Pacioli
T3 “Aioa
T3 AR

(c) William Pickles

wefera Pep
Taform P

/29
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28. Which of the following accounts. will be credited if
machinery is purchased for cash?

WWWW&W‘WWQWWWWW—@%
W2

are @R IR @%W@WWHWWWW@?

() Capital A/c " (b) Fixed Assets A/c

AT RETE 2R 71 Rorey
PEACREYIS 7R oS IR
(c) Machinery A/c (d) Cash'A/c
Ll CREVE | 51w f2p1e1
TFfe TR =19

29. Amortization refers to writing off

/29

PN IF o @
TG I (@ (R

(a) depleting assets
fRsoSieRa e
fseRiae oS

(b) wasting assets
TP A
TEPIA o4

(c) intangible assets

S TS
SN NG

(d) fictitious assets
FERE Foorfy
PR ST

30.

31.

(17 )

A person who owes money to;the firm-is.called -
Rem e TR BT e W] o (PRLT’S

@ T IPNE D (RS IRE ST IR+ L e
(a) debtor (b) owner . = .
(d) None of the above

(c) creditor | |
NGAME o @Wtﬂf:‘lﬁm .
NG B %ﬂm e

out of the following, which is not a' provision?
@S STy T (PICO! SRR IS PRI
e @l SRye e RS A7

(a) Provision for Doubtful Debt
WTETF AT I SRR IE
TS 4 IRG SRR 3T

(b) Provision for Discount on Debtors
(AR @°[S TR SRy I8

(c) Dividend Equalization Reserve
AR TP IS
AT ST “ffe

(d) Provision for Depreciation
TR 6OS SRy I
SFEd Tord oREe I

[ Contd.
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(18 )

32. The term ‘Financial Statement’ covers

33. How would revenue from sale of goods and services be

/29

R Ryfe’s ok g
R R’ s wwse
(a) Profit & Loss Statement
- (AFoT RIS
S-S R3S
(b) Balance Sheet and Profit & Loss Statement
78 °[q T FS-(EFoRR RS
TGS g R AS-CETRPR R
(c) Balance Sheet and Profit & Loss Appropriation A/c
7@ g HIF AP [T e Rorey
78 I YR AS-ERPIE RIS 06 o

(d) All of the above

8T BRI
TCRT SR

classified?
T SIF ORI RET a0 IR QAT R 791 79
R @R O R a1 A1y Py @R w11 27 9

(a) Operating outflow
e T T 7!
AF TR I TR

(b) Operating inflow
SRR Be e Ty
RIDCALRR e e e R

(c)

(d)

(19 )

Investing inflow

e ST Rivcew =@
et S RiNGss o=

Financing inflow
e Rey T 7mi
e RE S| |

34. Which of ‘the following would not

Reconciliation Statement?

R Remee R oo @ Rewe gor 791 ?

e @m e et RIRa R aor @@ w12

(a) Dishonoured cheque

P 4T
SPTINS GG

(b) Discount received

/29

B! IS
AT NSNS

(c) Bank interest
QAT
PCF N

(d) Cheque not presented
e Somiem TR
AT TR A TR

affect Bank

[ Contd.
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35. Overdraft means _____ balance of cashbook.
SRR e T T R iy
SRRFA N T9% F308 CRAIGl

(@) closing / wfd / iy
(b) debit / @l / cnl

() opening / ¥E / @M
(d) credit / @es / e

36. Rent paid is a

1Tl ARy 2 9B
TIOIw! RNy 2/ 6
(a) Personal A/c (b) Real A/c
IS fZorrre T fRp1ore
IS Bomed Rl REYIS|
(c) Nominal A/c (d) Liabilities A/c
g fEsrere R f¥ptore
g Red o R
37. Recording is made in Journal Proper of
e wgwre fifRa 2’3
e ey R 23

(@) opening entries / WM 2RB / omfe AR

(b) closing entries / R 2R / Tl ofip

(c) adjustment entries / e o} / g R
(d) All of the above / SRTIBREH! / Sorg oy

/29

38.

39.

/29

(21 )
The sales book is a part of
R R4 GO S =
R 7 996 o |
(a) Journal , (b) Trading A/c
QIR - -Rew Rores
IR - s
(c) Balance Sheet (d) Ledger
Rem Rfes SICHER
Purchase of furniture on credit is recorded in
FrE KR T o fites 39 = |
AR SPRREE &1 AR BiPrs v =

(a) Journal Proper / oFC ®iIM® / A4FC RICIUE
(b) Sales Book / Ry ®e / Rew e

(c) Cashbook / 5% 3e / Fof% X

(d) Purchase Book / & R / & ¥©

Trial Balance is a/an
g fiom g 9T
Tge fiem oia 9T

(a) account / owt / IR
(b) statement / fafe / R[S

(c) information / ®% / U

(d) None of the above | @RS «ore T [ o GIe T
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PART—B

( Marks : 40)

Answer any five of the following questions :

ST A 2R R e Moo Ty fay
e emetrm @ @ stivha Ter me

41. Write the meaning of Accounting.
fRprereee e fora |
[Raeizae ARl

42. What is GAAP?
GAAP it 3 2
GAAP 317 912

43. Write two types of source document.

B! Y& wferer 2P fora |
i 1 WfoeTs 2RI ¢ |

44. Mention two functions of Tria] Balance,
g e a3 151 IR Sy 3/ |
g8 o s 7fo I Seare ey |

/29

2x5=10

45.

46.

47.

48.

49 [ ]

50.

/29

( 23)

Mention two functions of Provision for Bad and Doubtful
Debt. :

SRR S TS I 701 PR TTar 4 |
SRR @R RGNS I 6 I SEy I |

What is entity assumption?
ST 4l & 2
SR 4T 2

Mention two types of transactions recorded in Journal
Proper.

oS TS TIGS < T2 43 AT SCEY 1 |
oS T TGS A 2 AR (T SCavd I |

What is journalizing?
wawTe 2RfE forem Wi &2
wicawce 2R @ e A2

What is incomplete record?

wpreyf B e R g 2
w7l % TS AR ?

What is capital expenditure?

sp[tﬁl?ﬂ’ﬂﬁi?
gﬂtﬁl?ﬂﬂ@?

[ Contd.



( 24 )

Answer any five of the following questions :
were fran ereree R e <lieibr Te fian
Rare eriaf @ e <fvfe ey e

3x5=15

51. Explain three features of petty cashbook.

LA 7o IR T ¢3f®y foran
A1 9% IR Toafb ¢ay ceican

52. Explain any three needs for Preparing a Bank

- Reconciliation Statement.

@@ﬁmﬁaﬁwwﬁm%ﬁﬁmﬁmwwn
1 e RS 2@ 31 @ e xS erarsaTeT e =6 |

53. Explain any three limitations of GAAP.
GAAP 3 R g ffRGr SRarer 1 741 |
GAAP-93 (@ Fige1 foaf6 HRaer I @i |

54. Mention any three distinctions between
Accrual Basis of Accounting; :

Cash Basis and

Roreraes 7o Ry wre e R Twe w1 R o Ry ooty

foram

@W«ﬂﬁ%aa\ﬂ%—ﬁﬁammwﬂmm,ﬂw

Ceedn |

55. What is meant by adjustment entry in
Give two examples of adjustment entry

Final Accountgp

mﬁmﬂaﬂmﬁﬁﬁﬁiﬁmﬁm?qmmqu

fazm

mWﬂWﬁW%W?ngmqu

s |

/29
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56. How is profit or loss ascertained by Statement of Affairs
method in case of incomplete records?

wﬁﬁrﬁﬁw«m‘mﬁ%ﬁmﬁiﬁmwwm

I (PR e 1 = 2
o RiPREeRR (v WIiE IR RIS @ wm A wsm

IR e R I 2

H

57. Journalize the following transactions :

oTs Tl (eeTeTIRd e Rk w4
e cErrmetR afie ki ¥
1033 1 Commenced business with casr{ff 1,00,000
’ 1,00,000 TR AT IFTH A
1,00,000 BrFT 714 fica T SRS I
» 3 Purchased goods from Sarma Store—

58. Mention any th
7@ wIF ORI 9 R
o (7 TR

<€ 15,000 on credit
i (319 1 15,000 TR T A9 T 391 A

wiff B (% 15,000 BRAF TR kTS T 1
withdrawn cash from bank for office
use—< 5,500

4 o1 JET A 5,500 5 W 791 XA

&K
TE (AT TP T 5,500 el SIrRgel ¥ el

ree objectives of Goods and Services Tax.

mﬁﬁﬁWWWl
e foh S SCEd el |
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(26 )

Answer any three of the following questions : 5x3=15
wore T ereares R e bR T fam ;-
are erisfr @ @ foaiba Ter e

59. Prepare Triple-column Cashbook with the folloﬁng
transactions :

wore il SUPRRR o1 RoR-BYE @3 W 3R e 34y -
e e (e for-vse 9ol 7w 32 o 3

2024 - X/
Aprii 1 Started business with cash | 2,50 000
5% BT IPT IS 9 25
o BRI SRS N A
» 2 Deposited cash into bank 1,00,000
QTS 5 591 o o 2
JICE oI BIPI ST (7T el
» 3 Bought goods by cheque 1 500
(5CFC A0 & I 2’7
(o 2l A FF FH )
» 4  Received cheque from Mr., Gupta 5.000

1z 897 &3 IR 27
2 B8R & ey (o

Allowed him discount

C@%Wﬁmi’q
©ICS AT ez

250

/29

( 27 )
2024 | /5B
April 12 Paid into bank in cash 3,000

@S oW 5 o T 2
FICE oW Il S (RS Al

Paid into bank Mr. Gupta’s cheque
& R YR 63 & foar 29

1E s SR (5 T (ST

Drew from bank for office use
T 4A6% A R R I XA
AR {CR T T (P SR T M

5,000

2,000
» 25

» 30 Paid wages in cash 00

qﬂﬁmﬂqﬁmﬁa
qeﬁmﬂqﬁmwm

es to rectify the following errors :

wors foa R WE T Wﬁ;‘ﬁ ﬁ:f ﬁ‘" =
e S‘?’a@f?[ WG FAR GV skl :
ed from Saurav was debited to Gourav A/c

1 (TEE TS (B0 31 T

60. Pass Journal Entri

i) T 850 receiv

50 withdrawn for personal use was not

(11) Goods Of f Fi‘he bookS
recorded 11 <l 1 ATER fRvrore fifRm +11 A

750 TR I " e o PP e
s AT T
750 51T
[ Contd.
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(iii) ¥ 380 being purchase return was pos o th
ted t i
; P e debit of

380 ¥R ¥ e, 7 o okl 311 2
380 TR & (TR, T oI RS T4 =@

61. Prepare a Bank Reconciliation Statement as on

/29

31st December, 2023 from the following particulars :

b
m W . . N

ﬁmmﬁwvcw:alﬁmﬁaz 7 |
. q, 2023 R 9 e R
o1 < | ’ - ?Fﬁm 9

() Bank balance as per passbook—< 5,240
AR IF PR [T 5e—5,240 B
A IF P WF ©98—5,240 Bl

(iij Cheque issued but not
24 050 presented for payment—

4,050 G o fan (o <fReeR WS Rk =1 i
4,050 Brw WA C1SAT (5F ARCME & 71t 1 )

(i) Cheques deposited but not entered in the passbook
00k—

T 1,400
1,400memm,ﬁ@mmmmm
1»4003’“@@““@“%,%%{@%@@@

(iv) Bank debited T80 as bank charges

@F 80 B (AT T Bo0et (R g
% 80 B IE I RN (oRB wg

(vi)

(vii) Bills receivable

62.

12

(29 )

(v) 5,000 wrongly credited by bank in our passbook
@ 5,000 53 THEE SN AR 3 (FRB T

& 5,000 5 TAGC SN AT F C@%BW

Bank interest credited by bénk—? 250

@@ 250 51 (@3 T ot (@ fes 3

7 7 250 B % i R (D e

¥950 discounted but later

dishonoured and no entry has been passed in the

cashbook for this
S rakal 950 T drp el PES oS W S W W

o <R o 2R R
orge @@ 950 b art T o TS T AT AT A

o e Co offe T R

the following Trial Balance of M/s Kalita Enterprise
g 31st December, 2023, prepare—

as on
it Il GO, 31
:;WQ 31 foor, 2028 TR PSS few

(AT Loss A/c for the year ended

profit &
023;

qre- [ Contd.



( 31)

( 30 )
(b) Balance Sheet as on that date :
R RS 99 ¥78 19 2% 9
R oIt gl T ©fq o I
Trial Balance / 56 e oF / 5@ feey g
Debit Amount ()
Credi
R (521 edu Amount ()
Buildin A x -
o g 18,000 Purchase Return o)
= 1 R 1,400
. & TR
Opening St |
ﬂ% ock | 8,400 Provision for Doubtful Debt i
W = Wx 7 SRy /@ 400
ena@as. SRR IR SRy
Salaries 12,400 Sales bt
' 66
e 2;: 275
Rent 3,500 Interest Received
S| T oy ) +00
TSl T 2
Furniture 4,950 Creditors
Py 4,200
WW _ ANV
ages ' 6,400 Outstanding W
TR | e TG} nees 900
TR H2Te TG
Purchases | 38,000 Capital
&
Pt 45,0
™ | b ,000
Octroi Duty 875 Bills Payab)
ST 9 - e Rt )
o o 2,000
/29

Debit Amount ()
coio R (51)
oo a1 (5r)
Bad Debts 600
SR '
SR 49
Advertisement 2,000
Reem
Rerem
Drawings 3,000
SRR -
R
Sundry Debtors 15,000
Ry (=
Ry @M
Bills Receivables 6,000
sirop R
aire e
Carriage Inwards 1,450
FREe ARIL
FEe AR
—
1,20,575
Adjustments :
MNAUCTE
I -
(i) Salaries Prepaid—< 400
R wq—400 izl
SN 26 @@‘a‘[———400 ol

/29

Credit -

Amount ()
TP ()
e (Br)

—
1,20,575

[ Contd.



(32)

(ii) Closing Stock—<X 9,750
AR Tge—9,750 B
e Tge—9,750 Bl |

(iii) Make Provision for Bad Debt—< 500
STRRAR 4 AR ST T4 FRA—500 T
SRR AR & SR IR FAE—500 B

63. Distinguish between (any two) : . 2Yx2=5
N et (R PG )
N (741e (X A o)
(a) Capital Expenditui'e and Revehﬁe Experiditufé |
TR T A ofere I
TR IR G3% DTS I|

(b) Capital Receipts and Revenue Receipts
T anfes s TR ey
T 2fY @R TR 2y

(c) Capital Profit and Revenue Profit
TR A WE JPNRS A
T S SR TS S

* % Kk
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